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Grade 4 Math Worksheet: Subtraction (Difficulty Level: Easy)

Name:
Date:

Part 1: Simple Subtraction
Solve the following problems:

767 - 313 =
1,466 - 223 =
578 - 146 =
3,789 - 1,452 =
948 - 624 =
1,878 - 532 =

I

Part 2: Subtraction with Borrowing
Solve the following problems, remember to borrow when necessary:

2,634 - 1,487 =
4,501 - 2,235 =
3,789 - 1,690 =
5,432 - 2,681 =
2,904 - 1,857 =
6,283 - 3,124 =

ok wd -~

Part 3: Word Problems Set
Read the word problems carefully and solve them:

1. Sarah had 4,500 pencils. She gave 1,368 pencils to her friend. How many
pencils does Sarah have left?

2. A farmer has 3,245 apples. He sold 1,760 apples at the market. How many
apples are left with the farmer?
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3. Atoy store had 5,670 toys. They sold 3,128 toys. How many toys are left?

Bonus Challenge

1. There are 6,172 people in a stadium. 2,451 people left early. How many people
are still in the stadium?

-BE THE CHAMPION!--



